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i, Triples are sets of numbers that sstisfy the property @' + b' = ¢'. For example, the set of numbers
5 IZ, 13 is a Pythagorean Triplo since 5° + 12" = 13° (25 + 144 = 169). Which of the following sets of
nuenbers are Pythagorean Triples? Explsin your choices.
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8 Abaseball diamond is 90 feet on each side.
Haw far is it from second base to home plite?
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16200=C*

10, The second hase player backs wp 30 ft from secand 1. A fielder cought a fly ball on the first base ling 126
base directly in fine with secand and third base (o feet from first base, how far would he have 1o throw

9. The short stop plays exactly halfway between
second hase and thind base. How far is the thraw
to first base from short stop?

ficld a ball. How far is a throw ta home plate? m;uikhllmmdbuﬂ i
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Defining a Power

. £ lwm) & (4ob)
reuire mmber by itself rwulnlly Writing these cxpress,
3 up-nu-l form provides an efficient method for repeescating the repeated multiplication of the same lm-x

Thctlptmlb-l(]xll)xlﬂ- 10" is read “1en 10 the fourth power™. We call the mumber 4 an exponent
g the wamber 10 s the base. An expression for  pwes s caled expanential notation
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2 x3x3x3x3=3° (3 4 t1u power off 5)
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8 factor, Exl) (3) = (-3)(-3)(-3)=-27

For amy natural number » greater thas or equal 0 two, b" = bx bXbXbX ..
By -3*=-3.3.3=-27 """

The expeession 2* = 2 x 2 X 2% 2% 2 in read “two 10 the fifth power”™; it tells us 10 use two as a factor five times,
T g Ext -3 =-8l
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The Product of Negative Numbers q 56, _(.9)9 -

The prochct ofam even mumber of nagative mumbers s posive. The prodict o aa 0dd number of pegative
numbers is 0dd.

Ex7
(= 1) is positive since 30 Is even. (— 17" is negative since 19 s odd )_[_(_ (_|)1 )1] = — '

Another important concept in determining if a product of negative numbers is even or odd is where the negative
sign lies in relation 10 the brackets.

N (= =(=2)x(=2)%(=2)%(=2) = 16  The megutive sign s inside the brackets therefore ~2 Is the
‘hase and an even mumber of negative nwmbers is positive.

i) ~(2) ==(2)%(2)%(2)x(2) = 16 The megutive is outside she bracket thevcfors only the o (s
the base and there is only one negative sign. Therefore the
answer is megativ.

i) —2" =~ X2%2 w16 Wishout the Brackers, the hase ix anly two. The negative sign
does ot belang 10 the exponent, and the answer is negative
again.
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Look for a pattern in the following:

2x2x2x%x2=2"
2x2x2=2"
2x2=2

2%2x2%2x2=2' 3
3

On the left side of the equation cach step is being divided by 2. On the ight side of the equation the exponent

decreases by | on each step. 01 =g 3::1
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By -(-4)=-1
By 4-(2)-3
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o = a, for say number a.
o = 1, for any noe-zero number o
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moter 07 s pot defined

Bamples §'= 1, 17'=17, (§f =1
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@ Circle positive or segative for the values, a > 0.

a) -a” = b) ~(ay*

o (-ap wr= (@) —t-ar

o -a* ol fod n —laf
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2. For cach cquation, flnd the imoger thst can be used us the exponent to make the equation correct.

@Au-mhu> 1. In oeder from least 80 greasest armange the following: ~(~a), ~a’, (-af. —a".
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U 1- Roots, Powers, and Laws

& Write the area of cach square as & power
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6. Wiite the volume of each cube as & power.
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7. Write in exposential notstion. All values are positive.
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By, & > -7

By, (3 < @

By ((4) > @)
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Ex) '(-Lf)°= -1
By 4-(2)-3
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By 2°+ 3a]= 8430 - |
B 15’ +E‘j°: q
B9[2+3a] = 1

B [x+2-y)°=1
[2ab+4]% 1
[F+7-6]°=1

Congon Power : 59(—42)'224(_;)3
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